

$$f(x) = \begin{cases} a + \sqrt{x} & x < 1 \\ b\sqrt{x} & x \geq 1 \end{cases} \quad x=1 \rightarrow a+1=b$$

مشتق $f(x) = a + \sqrt{x} = a + |x| \Rightarrow f'(x) = 1 \quad f'(1) = 1$

مشتق $b\sqrt{x} \Rightarrow f'(x) = \frac{r}{\sqrt{x}} b x^{-\frac{1}{2}} \rightarrow f'_+(1) = \frac{r}{\sqrt{1}} b = \frac{r}{\sqrt{1}} b = \frac{r}{1} b = r b$
 $a = b - 1 \Rightarrow a + b = b - 1 + b = 2b - 1 \quad a + b = r b - 1$

$$f(x) = \frac{r(r-x)}{x^{\frac{r}{2}}} \quad f'(x) = \frac{-r x^{\frac{r}{2}} - \frac{r}{2} (r-x) x^{-\frac{r}{2}}}{x^{\frac{r}{2}}} \Rightarrow f'(1) = -r$$

$$g(x) = \frac{r(x-1) + \sqrt{x}}{x^{\frac{r}{2}}} \rightarrow g'(1) = \frac{-1 + \frac{r}{2} \cdot 1 - (1 + \sqrt{1}) \cdot \frac{r}{2}}{1} \quad g'(1) = -\frac{1}{r} \quad -r - r(-\frac{1}{r}) = -1$$

$$ab + c = \frac{1}{a} \quad f'(x) = \begin{cases} b & x < a \\ -\frac{1}{x^2} & x > a \end{cases} \Rightarrow f'_-(a) = b \quad f'_+(a) = -\frac{1}{a^2} \rightarrow b = -\frac{1}{a^2}$$

$$a(-\frac{1}{a^2}) + c = \frac{1}{a} \rightarrow c = \frac{r}{a} \rightarrow ac = r$$

$$x=a \rightarrow f(x) \sim \frac{1}{x} \quad f'(x) = \begin{cases} 0 & x < a \\ m(x-a)^{m-1} & x > a \end{cases} \quad f'_-(a) = 0 \rightarrow f'_+(a) \neq 0$$

$$m(a-a)^{m-1} \neq 0 \rightarrow m=1$$

$$(f \circ g)'(-\sqrt{r}) \quad D_g(-\infty, 0) \quad g(x) = \frac{1}{r x^{\frac{r}{2}}} \quad f(g(x)) = \frac{1}{\sqrt{\frac{1}{r x^{\frac{r}{2}}} + \frac{1}{r x^{\frac{r}{2}}}}} = \sqrt{x} = x$$

$$(f \circ g)'(x) = 1$$

$$-a - (r a - a) = r \rightarrow -a + r a + a = r \rightarrow r a = r \rightarrow a = -\frac{r}{r}$$

$$f(r) = \frac{r}{r} \quad f(r) = -\frac{1}{r} \quad \frac{f(r)}{f'(r)} = -\frac{1}{r}$$

$$g'(\sqrt{r})_x f'(g(\sqrt{r})) = (f \circ g)'(\sqrt{r})$$

(۷)

$$g(n) = f(n+1) + f(rn+10) \rightarrow g'(n) = f'(n+1) + r f'(rn+10)$$

(۸)

$$g'(r) = f'(-1) + r f'(\varepsilon) \rightarrow f(n+\omega) = f(n) \Rightarrow f'(n+\omega) = f'(n) \rightarrow f'(\varepsilon) = f'(-1)$$

$$g'(-r) = \frac{r}{r} + r \left(\frac{r}{r} \right) = 4$$

$$f(n) = (n-2) \sqrt[n]{n+0} = \sqrt[n]{n+r} + (n-2) \times \frac{1}{r (\sqrt[n]{n+r})^r}$$

(۹)

$$\lim_{h \rightarrow 0} \frac{f'(a-h) - f'(a-h) + r}{h(a-h)} = \lim_{h \rightarrow 0} \frac{f'(a-h) - 1}{a-h} \times \frac{f'(a-h) - r}{-h} = \frac{f'(a) - 1}{\omega} (-f'(\omega))$$

$$\frac{1}{\omega} \times \frac{-r\omega}{1r} = \frac{-\omega}{1r}$$

$$4y - 3x = 1 \quad m = \frac{+r}{4} = \frac{1}{4} \quad \text{مشتق اول} = -r \quad y' = 3x - 2 = -r \rightarrow x = 1 \quad y = 2$$

(۱۰)

(۱، ۲)